BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-CS-SUMMER / (SS/19) 2018-2019

By the order of Examination committee, the following is the result of BE-CS - SUMMER Semester held in the month of JUNE-2019

Date: JULY-2019

Controller of Examinations

SESSIO	N : 2018-2019 C	CLASS : BE-C	3		BRANC	H : EN	IGINEEI	RING				5	EMEST	ER/TR	IMESTE	R : :	SUMME	₽R	MOI	NTH OF EXAM	1 : JUN	E-2019
ROLL NO	NAME	L	AM 1201(4) EC4206 (2)		CS1302(3) MA1201(4)		CS6011 (3) PE5011(3)		CS6103 (4)		CS61	CS6108 (2) -		CS8031 (3) -		01(3)	EC4205(3) -		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6023/15	SADAF PERWEEN	U	-	-	A+	27.0	-	-	-	-	-	-	-	-	-	-			27.0	3.0	9.00	
BE 0023/13	SADAI TERWELIN	L	-	-	-	-	-	-	-	-	-	-	-	-		-	-			3.0	9.00	
BE/6046/15	6/15 CHANDRA SHEKHAR	U	-	-	-	-	-	-	-	-	A+	18.0	-	-	-	-	B+	21.0	79.0	10.0	7.90	
BE/0040/13	CHANDRA SHEKHAK	L	Α	16.0	-	-	Α	24.0	-	-	-		-	-	-	-	-		79.0	10.0	7.90	-
BE/6068/15	SASHISU KUMAR	U	-	-	-	-	-	-	-	-	-	-	В	18.0	-	-	-	-	18.0	3.0	6.00	
BE 6000/13	SASI IISO KOIVIAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	10.0	3.0	0.00	
BE/6071/15	AMIT KUMAR	U	D	16.0	-	-	-	-	-	-	-	-	-	-	-	-	-		36.0	8.0	4.50	
BE7007 17 13	AWIT KOWAK	L	-	-	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	30.0	0.0	4.50	_
BE/6091/15	PIYUSH KUMAR SHUKLA	U	D	16.0	-	-	-	-	-	-	-	-	-	-	-	-	-		16.0	4.0	4.00	
BE 009 1/ 15	I I I OSI KOWAK SHOKLA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		10.0	4.0	4.00	_
BE/6128/15	AMAN KUMAR	U	-	-	-	-	F	0.0	F	0.0	-	-	-	-	F	0.0	-		00.0	10.0	0.00	
BE/0120/15	AWAN KUWAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		00.0			-

AM1201(4) : ENGINEERING MECHANICS EC4206 (2) : MICROPROCESSOR & MICROCONTROLLER LAB CS1302(3) : FUNDAMENTALS OF UNIX & C PROGRAMMING MA1201(4) : ENGINEERING MATHEMATICS

CS6011 (3) : COMPUTER GRAPHICS AND MULTIMEDIA PE5011(3) : PROJECT ENGINEERING CS6103 (4) : SYSTEM PROGRAMMING

CS6108 (2) : COMPUTER NETWORKING LAB CS8031 (3) : DATA MINING & DATA WAREHOUSING CS8101(3) : ARTIFICIAL INTELLIGENCE AND EXPERT SYSTEMS

: MICROPROCESSOR AND MICROCONTROLLER EC4205(3)

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Disclaimer

Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EC-SUMMER / (SS/19) 2018-2019

By the order of Examination committee, the following is the result of BE-EC - SUMMER Semester held in the month of JUNE-2019 Date: JULY-2019

SESSION	N : 2018-2019 C	LASS : BE-E	3		BRAN	CH :	ENGIN	EERING					SEM	ESTER	/TRIME	STER :	SUMN	1ER	MOI	NTH OF EXAM	l : JUN	E-2019
ROLL NO	NAME	U L	AM1	201(4)	EC2001(3)		EC3205(3) -		EC5203(3) -		EC6205(3) -		MA1201(4) -		MA2201(4) -		MEC2137(3)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				<u> </u> -
BE/6014/15	AMAN KUMAR	U	D	16.0	-	-		-	-	-	В	18.0	F	0.0	-	-	-	-	34.0	11.0	3.09	
BE/0014/15	AWAN KUWAK	L	-	-	-	-		-	-	-	-		-	-		-	-	-	34.0	11.0	3.09	
BE/6119/15	SMITA KUMARI	U	-	-	B+	21.0	-	-	B+	21.0	-	-	-	-	-	-	В	18.0	60.0	9.0	6.67	
BE/0119/15	SWITA KUWAKI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	60.0		0.07	-
DE/6126/15	KUMAR VAIBHAV	U	-	-	-	-	D	12.0	-	-	-	-	F	0.0	В	24.0	-	-	36.0	11.0	3.27	
BE/0120/15	NOWAN VAIBHAV	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	30.0	11.0	3.27	_

: ENGINEERING MECHANICS AM 1201(4) EC2001(3) : PRINCIPLES OF ELECTRONICS ENGINEERING

EC3205(3) : SEMICONDUCTOR DEVICES EC5203(3) : MICROWAVE ENGINEERING EC6205(3) : COMPUTER NETWORKING MA1201(4) : ENGINEERING MATHEMATICS

MA2201(4) : ADVANCED ENGINEERING MATHEMATICS MEC2137(3) : WIRELESS NETWORKS

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original

Controller of Examinations

Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Date: JULY-2019

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-EE-SUMMER / (SS/19) 2018-2019

By the order of Examination committee, the following is the result of BE-EE - SUMMER Semester held in the month of JUNE-2019

SESSION: 2018-2019 CLASS: BE-EE					Е	BRANC	H : ENG								N	MONTH OF EXAM : JUNE-2019							
ROLL NO	1	NAME	U	EE5	205(4)	EE5	202 (2)	EE52	204 (2)	EE52	206 (2) -		-	-		-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6063/15	DEEPAK KUMAR	,	U	С	20.0	Ex	20.0	Ex	20.0	A+	18.0	-	-	-	-	-	-	-	-	78.0	10.0	7.80	
BE/0003/13	DEEPAR ROWAR	•	L	-	-	-	-	-	-	-	-	-	-	- I	-	-	-	-	-	76.0	10.0	7.60	_

EE5205(4)	: POWER ELECTRONICS	-	:
EE5202 (2)	: MICROPROCESSOR LAB	-	:
EE5204 (2)	: ELECTRICAL MACHINE LAB -II	-	:
EE5206 (2)	: POWER ELECTRONICS LAB	-	:
-		-	:
-	:	-	:
-	:	-	:

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

Date: JULY-2019

Controller of Examinations

Reference: EXAM / JPP / BITIC / DEOGHAR / BE-MECH-SUMMER / (SS/19) 2018-2019

By the order of Examination committee, the following is the result of BE-MECH - SUMMER Semester held in the month of JUNE-2019

SESSION	N : 2018-2019	CLASS : BE-M	ECH		BRA	ANCH :	ENGI	NEERING	3				SEME	STER/1	RIMES	TER :	SUMN	IER	MOM	NTH OF EXAM	1 : JUN	IE-2019
ROLL NO	NAME	U	AM1201(4) ME4003(4)		CH1401(3) ME5001 (4)		CH2203(3) ME5003(4)			001(3)		201(4) 201 (4)	MA1	201(4)	MA2	201(4)	ME3001(3) -		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BE/6036/15	RAHUL KUMAR	U	С	20.0	-	-	-	-	-	-	-	-	-	-		_	Α	24.0	68.0	11.0	6.18	_
BE/0030/13	IVALIOL KOWAK	L	-	-	-	-	В	24.0	-		-	-	-	-	-	-	-	-	00.0		0.10	-
RE/6066/15	KUMAR GAURAV	U L	-	-	С	15.0		-	-	-	С	20.0	-	-		-			51.0	11.0	4.64	_
BE/0000/13	ROWARCOAGIVAV		D	16.0	-	-	-	-	-		-	-	-	-	-	-	-	-	31.0			
RE/6080/15	MAYANK RAJ	U	-	-	-	-	-	-	-	-	-	-	-	-	С	20.0	-	-	20.0	4.0	5.00	_
BE/0000/13	INATANICIO	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0		
BE/6105/15	NISHANT RANJAN	U	-	-	-	-	С	15.0	-	-	Α	32.0	-	-	-	-	-	-	47.0	7.0	6.71	
BE/0103/13	MOLANTIVANIAN	L	-	-	-	-	-	-	-	-	-	-	-	-			-	-	47.0	7.0	0.71	_
BE/6107/15	RAVI RANJAN	U	-	-	-	-	-	-	С	15.0	-	-	С	20.0	-	-		-	35.0	7.0	5.00	_
BE0107/13	IVA VI I VAINUAIN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	55.0	7.0	3.00	_
DE/6121/15	DAULI KUMAD	U	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	11.0	0.00	
BE/6131/15	RAHUL KUMAR	L	-	-	F	0.0	-	-	F	0.0	F	0.0	-	-	-	-	-		00.0		0.00	_

AM1201(4) : ENGINEERING MECHANICS ME4003(4) : MECHANICS OF MATERIALS CH1401(3) : ENGINEERING CHEMISTRY ME5001 (4) : IC ENGINE & GAS TURBINE

CH2203(3) : ENVIRONMENTAL SCIENCE ME5003(4) : KINEMATICS & KINETICS OF MACHINES EC2001(3) : PRINCIPLES OF ELECTRONICS ENGINEERING PE5001 (3) : MANUFACTURING PROCESS - II

EC2001(3) : PRINCIPLES OF ELECTRONICS ENGINEERING PE5001 (3) : MANUFACTURE E2201(4) : PRINCIPLES OF ELECTRICAL ENGINEERING PH1201 (4) : PHYSICS

MA1201(4) : ENGINEERING MATHEMATICS - :

MA2201(4) : ADVANCED ENGINEERING MATHEMATICS - : ME3001(3) : THERMODYNAMICS - :

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original

Grade card will be issued by the institute in due time.